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Ch 5 Review

e

He is too big. We need to

r’s &2 v
perform a a® + b section.

The Birth of a Right Triangle




ex: Solve.
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ex: Perform the indicated operation.
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ex: Perform the indicated operation.
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ex: Solve.
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ex: Find the LCM. 5 \D
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ex: Perform the indicated operation.
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ex: Sketch. State the domain, range and end behavior.
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ex: Sketch. State the domain, range and end behavior.
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ex: Use the graph to state the domain, range and end
behavior.
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ex: Use the graph to state the domain, range and end
behavior.




Find the x and y-intercepts (if any)
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